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4. [Z]HA AN 318 720 -402
1. 7] PR 2 24491 71 318 720 -402 Efg(;ié;ﬂ:ﬁii%mﬂmﬁﬂ : -500,000
(BHA2F) (R, )z Az oA
An] ¢ 97,210+13] = 98,000
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1. 32 =) 1) 40 40 0
2. 052 gH] 1,400 1,400 0
5% Ej; 0; ﬁf)z o a A 900 900 0
1. 05 H| 900 900 0
%gzmw—w%—%w@ 430 430 0
1. 05 H| 880 880 0
2.3 A A A 13,836 15,888 -2,052
LlzYesad 4,196 5,600|  -1,404
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1. 25 n] 204 204 0
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3. [=1EAARAR(F]) 1,224 3,196 -1,972
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fi[;v; f—;xf)% R 6,300 6,300 0
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1.8 B2 n) 429 1,500 -1,071 | B 0 -1,071,0009 18] = -1,071,000
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2.7498 APs 64,394 66,800 -2,406
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1. 05 H| 1,300 1,300 0
3. [=]AS 3 4,370 4,800 -430
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